Midterm (Compiler) Name: Grade:

1.(10%).1s the following grammar LL(1) ? Explain why ?
S>ABBA

A->a

A->¢g

B->b

B->¢

2. (10%) Rewrite the following left recursive grammar into non-recursive EBNF
grammar.
<exp> = <term> | <exp> + <term> |[<exp> - <term>

3.(10%) Use one example to show that the following grammar is ambiguous.

stat > if cond then stat
| if cond then stat else stat
| other-stat

4. (10%) Reduce the following transition table.

Input
6| a b c
12 5

23 4 1

3|5 2

States @ 3 2 1

5|1 4 1

6 |1 1

713 6 3
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5. (10%) For the following NFSM, find the corresponding DFSM  with the
minimum number of states.

6..(30%) For the following grammar:

<E> ::=<T><E’>

<E’>:=+<T><E>|¢

<T>::=<F><T’>

<T’> ::=* <F><T’> |g

<F>:=(<E>)|id
(a) (10%) Find First and Follow sets (for each non-terminal symbol).
(b) (10%) Create its parsing table.

(c) (10%) Shows the move made by predictive parser on input id+ id * id (based on a
stack).

7. (20%) Lab.
T‘iiﬁﬁ'ﬁq lab. (B2 — F|lex Fi scanner f[I
(a) 7+ Lex [[I> ¥ regular expression %ﬁ?ﬁf[ Y token PUR IF%{T‘:}'FV g [ L2
2
(b) 7t Lex Program f[1 » 77 [f|[¥| Definition section * Rules section ==
User subroutines section ° iF;F_: (TS = L e RO RAT T
(c) 7t Lex Program i regular expression [[1 >~ [SAFURL?
(d) 7 Lex Program [/ regular expression f[1 > . [SZfURL?
(e) v Lex Program iV regular expression |1 » J[1ff &2 152
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